1 1 tand cos&

1. goae—e—a=] 3 - 1
se0 0 osc @ sin &
2 : .
Cos% +5, n°G Z{i/@ss
I —
S0
S/q &




3 sin & n cos @ 1

cscld secl

Siaé Cosl
"4

1 N
Sihn@ CeS®

S1 8548 +(CosO -Cos®d
S,h2@ + cos AS

)

4. cos?@+tan?6 cos?l =1

S ( |+ b0
(o5°6 .Sec®>

%
|



1+ tané
secd

L@

5.s1n@ +cos @ =

Sec@ SaO-
.S;..
Cos® + cxa
Cos
CesG 4 s..
% = ©
(204550

cosd cos@

: — + —— =2secl
l+sinfd 1-siné

Coobl i) + ot 45106)
(I-si26)

Cos & ~ CosPerd 456 telc.f
Cop*6

1650 - & -

0520 CosD

35&9



7.2cos?8 - 5cos@ +2=0 8.sin’8 =2sinf +3
(65”0 - 5 wsO =0 N0 25:06-3 :0
(Co50-D(easo ) <0 (5n6-D (506 1) 0
P

(cxt60-3):0 @59__\7_)% Q=3
Cos® =2 C'uss:'—-\-
A / S LA X
7‘.@3@.

)

5va0 -

Ay



9. 3tan’ 8 + 4secd =-4 10. 2sin fcos @+4sinf =cosf + 2

X.SC’G%"D 3 Lfsccg _}"(_’ 9\ S0 6(%9 -\'«1) :@&9 J-))
35c?®-3 + Ysee Y -o 95"‘9(“’59“) “(Q*G"'})'-‘O

Be26+Yseco 4 - ,
Seeg +?§:0 -:;I ° (wt)en0-1) =0

(SQO?)C)C(Q?EQ Cosg:’&
(S«SH)(&:@#Q e X
< g




11 csc?8-2=0 12. - tan?6 + 2tan8 +3 =0

c*e "'ﬁ: /l"a\?'@ - 24_6“9 -3 -5

e 4 53 (b6-Dhno ) 20
Sn6 -+ L. +J5 T340
= s|/his7 / By

AS).57 ¥

- 2
INRAEE Jes
g 7




Li;-O:H IH‘f, I)- 90( 23,4506 33, 35,

11



